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ot T fw F smEes (V) § a9 (T) F T
foeror % © TEiT AIER BT ¥ ) SEed A ®
3FEAT B 7% 9 o 9k § i g e oo oik
T+ gRI AT 5T A1 T4 8

o
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(1)
(2)
(3)

(4)

feret g1 i Ry & q@ gy fedl 3= A
oI % g qongf (S o emgfy % wEE R |
AfE §7¢ AT 5T 1 FE=E 20 em B, 9 G AT
g i s Bl

~1|BD CA|DD 0| DD QO

(1) 12-5cm
(2) 8Sem
(3) 13-2cm
(4) 16cm

fopm am W arfefise rvpeh S & Mem g&@ (rms)
e gt & FIYAUSE § YellEd W %A % fg W
vt B St ?

(fen mar 3 -

TS o 3] BT TEHE (m) = 2-76 x 1076 kg
AregHa e ky = 1-38 x 1028 J K1)

(1) 5016x10*K

(2) 8360x10*°K

3) 2508x 10°K

4) 1254x10*K

el & Ters AR FaeTis & i writa R smes

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, 1s

v

T

A

O —> T

(1)

(2)

(3)

1|k S|k o by S|

(4)

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(1) 12-5¢m

(2) 8em
(3) 132cm
(4) 16 cm

At what temperature will the rms speed of
oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

(Given :
Mass of oxygen molecule {m) = 2-76 x 10742 kg

Boltzmann’s constant kg = 1-38 x 102 JK

(1) 5016x10*K
(2) 8360x10*K
(3) 2508x10*K
(4) 1254x10*K

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, 18

ST 3 1 2@ TR 1) 625%
(1) 625% (2) 20%
(2) 20%
(3) 26:8% (3) 268%
(4) 12-5% 4) 12-6%
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(47 + 47 kQ Wfarg = forefl Fea-gfatias «, wgam
% foru, faftrs aoit & =@ <ifra foee o= 8 | 991 =i
1 F9 B

(1) e — %0 — S - GHE

(2) e — ST - Tt - =il @

(3) S — e — arf — =itdl T

(4) B -0 — & - gasu

‘n’ TEEH YiGUed] &1 ag=, s g @ iy
‘R 2, iy H 4999 (emf), ‘B T Al
yiiyg, ‘R’ &1 fpel aed & w9 2 | 928 § o i
g I 2 | 9 9 ‘o’ SR S ured wH | 3H 92l
Tugifm frn s 2 | A ded a ol aw 10 1@
AT 2 | ‘0’ T HE B

(1) 20
(2) 11
3) 10
4) 9

H15 Sl eriafes gy o o, Sefsen | waiie, o
Ty Ul (W n uRedi ) a3 | Sl %
et w1 weued s awy oAt e R | e e
HE-A WME 1 3R n % i o) geieg i gorian 2 2

I

w f
O —»1
I

w i~
O —n

A carhon resistor of (47 + 4-7) kQ is to be marked
with rings of different colours for its
identification. The colour code sequence will he

(1)  Yellow — Green — Violet — Gold

(2) Yellow — Violet — Orange — Silver
(3) Violet — Yellow — Orange — Silver
(4) Green — Orange — Violet — Gold

A set of n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘K’ and
internal resistance ‘R’. The current drawn is I.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

(1) 20
(2) 11
(3) 10
4) 9

A battery consists of a variable number n’ of
identical cells (having internal resistance v
each) which are connected in series. The
terminals of the battery are short-circuited and
the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

1
(1) TV
0O —n
I
(2) T\/
O  —n

1 1

@ 1 @ !
O —1n QO —>n
I I

(4) T / (4) T
O —n 0O —n
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ATaE 0 IS e % R Tmae 7o W wiE
sigfad vom 9g § AT wal ® | R femiw
A9 H P | T TR T R wEfda G sl
Fgafia ol Them % areag § | Fofafes ° &
-4 formred 3@ feufa o ot 8 2

i=sin?! {lJ
Tl

wWEfdd Y gfad 3 R me fogg afem

3T96H % T % Twad, a

Wafdd Y gfad 8 iR ek faga @few

3T9d9 <6 91 = A% 2
i=tan™! (lJ
n

7 = fgferd wam o, fafai % = g9 d, 2 mm 2
aa B ¥ 9 H g D F 100 em WA W WA
A = 5896 A % T 1 ITFNT RET T § | 97 U
T o6 T &1 *ivlig 9ieE 0-20° 23 | 99 (3% A 3R
D ¥ fom) Tkt i =i =gk =t s 0-21° wH
% fore frfai = = = g 1 % 3

(1)

(1)

(2)

(3)

(4)

2-1 mm

(2)

1-9 mm

(3)

1-8 mm

(4)

1-7 mm

10. TorHll EIAE HAedl e H R AEET SiUS

3T =il fesigr 3= g, =g 39k srfvrgyars ofa 6

10.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence %4, it is found that
the reflected
perpendicular to each other.

and refracted rays are
Which of the

following options is correct for this situation ?

(1) i=sin " (1J
M

(2) Reflected light is polarised with its electrie

vector perpendicular to the plane of
incidence

(3) Reflected light is polarised with its electric

vector parallel to the plane of incidence
i=tan " [1]
n

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm, 1t is found that the
angular width of the fringes is 0-20°. To increase

(4)

the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to
(1)
(2)
(3)
(4)

2-1 mm
1'9 mm
1-8 mm

1-F mm

An astronomical refracting telescope will have
large angular magnification and high angular

resolution, when it has an objective lens of

(1) v gl it it =m wg1 2
e P (1) large focal length and large diameter
2 PR CIBED =g
2 E‘-{T (2) large focal length and small diameter
(3) R gl FW R = I 2 (3) small focal length and large diameter
(4) wrE gl F1 IR = B 7 (4) small focal length and small diameter
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11.

12,

13.

14,

TS g I el SR wen § fRf el &
T St AR IHR FA S H I Bl B

(1) 2:-1
(2) 1:-1
3 1:1

4) 1:-2

AR ATV = Vi (Vg > 0) @R A m
# F o R R E o= - By |
(E, = T > 0) H t = 0 T yaw & 8 | 9 yrew
H 39 39 Hl el aveed ) B, 9 9t W
Tah! ¢Sel aeet Bl

(1) At
EEG
(2) 2y [1 + 1V tJ
3) !
1+ el t
mVﬂ
4 Xy

foret feamifeea werd 61 ey 10 foe 2 ) 3R
I § IRt H GE 600 B, @ 450 A1 @

faufea g0 o oM aren oo (e ) &

(1) 30
(2) 10
(3) 20
(4) 15

o9 foret a9 F T8 W gl 2y, (T8 v, SEel
IR §) 1 THM ST H ¢, Al Ieaia sade
W1 AfeHaH a1 v, 3 | 59 smafaa & £ smgfy
TG Sy, W G I B, A IH S F Iewiia
mWﬁwaﬂvgﬁﬁT%lvlaﬂ'{vgﬁm

3IE 7

11.

12,

13.

14.

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
18

(1) 2:-1
(2) 1:-1
3 1:1
4) 1:-2

An electron of mass m with an initial velocity
27} =V i (Vg > 0) enters an electric field
E = — ED? (Eq = constant > 0) at t = 0. If A; is
its de-Broglie wavelength initially, then its

de-Broglie wavelength at time t is

(1) 2ot
@ A [1 b 2 t)
m¥yo

3) l‘fE

[1 i t]

IIIV[}

4) Ay
For a radioactive material, half-life 1=

10 minutes. If initially there are 600 number of
nuclei, the time taken (in minutes) for the
disintegration of 4560 nuclei is

(1) 30
(2) 10
(3) 20
4) 15

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is vy. When the frequency of the incident
radiation is increased to 5wy, the maximum
velocity of electrons emitted from the same plate
is vo. The ratio of vy to v, is

(1) 4:1 (1) 4:1
(2) 1:4 (2) 1:4
(3) 1:2 3 1:2
4 2:1 4y 2:1
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15. feu ww uiwy smw #, FEw dieem (V) 20V,
VBE=DHEHVCE=O%| IB,IcaﬁIB%W@ﬁ

(1)
(2)
(3)
(4)

20V

Ip =20 uA, Io=5mA, p=250
Ip =25 uA, Ig=5mA, B =200
Ip =40 uA, Ig=10mA, B =250
I =40 pA, Io=5mA, p=125

16. T p-n it se # wf 89 © am # ufEdq

(1)
(2)
(3)
(4)

p-n T4 =% gfalrg =1 gurfea T8 a1 € |
¥l 31 iaty i gwfad = | |
g o () ity =67 vuTfaa = 2 |

p-n T & T V — [ {42101 T qUTRa
21

17. T= o fou e oiei < w9iem ° Flg Y = e A @
B < Tl § 30 YhK <994 foRa1 ST Gl &

15. In the circuit shown in the figure, the input
voltage V; is 20 V, Vg = 0 and Vg = 0. The

1

values of I, I~ and p are given by
20V

(1) Tg=20uA, Io=5mA, B=250
2) Tg=25uA, Io=5mA, B=200
3) Ip=40pA, Ig=10mA, B =250

(4) IE=40[J,A, IC=5mA, p=125

16. In a p-n junction diode, change in temperature
due to heating

(1) does not affect resistance of p-n junction

(2) affects only forward resistance

(3) affects only reverse resistance

(4) affects the overall V — I characteristics of

p-n junction

17. In the combination of the following gates the
output Y can be written in terms of inputs A and

B as
Ae Ae
L~ | el
Ml S| mPS
(1) A.B+A.B (1) A.B+A.B
2) A.B+A.B 2 A.B+A.B
3) A.B (3) A.B
4) A+B 4) A+B
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18.

19.

20.

21.

8 e e qor Bl mem F A1 Vo= V) @
™ W R | o s Reg-gedEa w0 o
fagaem 9 +y 39 % IRw B | @9 W
forgq-raeh 0 % R & e 6t fasn 2ol
(1) -y femm

(2) +zfem

(38) —zfam

(4) -—xfemm

forelt frem & vl 1 sTveTE 2 3R fem =1 i
30° 8 | 9" & ) a(wecs IS W # TH R A
e offat 1 AR T 9 W0 ¥ | g Bask 9
T FH AT THAU] Y T HE IS (0 T IS
¥ WEldd a9 % W) I 99 | ANE e I,
Iz firsn W 9T I w1 OE R

(1) 30°

(2) 45°

(3) 60°

4) =

wE fora 15 om @ T 5 BREA sEaa Tdw @
40 cm gl W e 2 | 92 3w forea w61 gor <y fomm
20 em TAFFARG W e Smw, @ widfee fea g0
R freenfia g1 smom 2
(1) 80 cm TYY & ™
(2) 36(:1113@@3;{
(3) 30emTUNE P
(4) 36 cm TUUT % UH

TRt 356 T 60 mA HI g TaiEd Y W IG WS o
wfya gradm fTafrs =i #1025 md & | W W
1 Wehed 3

(1) 1-380H

18.

19.

20.

21.

An em wave is propagating in a medium with a
velocity ?r = V? . The instantaneous oscillating
electric field of this em wave i1z along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(1)
(2)
(3)
(4)

— v direction
4 z direction
— z direction

— x direction

The refractive index of the material of a prism is
V2 and the angle of the prism is 30° One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence
on the prism is

(1) 30°

(2) 45°

(3) 60°

(4)

Zero

An object is placed at a distance of 40 em from a
concave mirror of focal length 15 cm. If the object
18 displaced through a distance of 20 ¢m towards
the mirror, the displacement of the image will he
(1
(2)
(3)
(4)

30 cm towards the mirror
36 em away from the mirror
30 em away from the mirror

36 cm towards the mirror

The magnetic potential energy stored in a certain
inductor is 25 m<d, when the current in the
inductor is 60 mA, This inductor is of inductance

(1) 1389 H
(2) 13888 H (2) 13888 H
(3) 0138H (3) 0-138H
(4) 1889 H (4) 1389 H
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292, hIg g@ﬁr;'j:[ oz 8 Rl vamE e W H1 |22, An electron falls from rest through a vertical
e ﬁ@?l : AT distance h in a uniform and vertically upward
i _\-&}ﬁ' EH % E@’ B, ¢ s directed electric field E, The direction of electric
ﬁ@\-&éﬁ' 1 qRE SaREfdd @ & Toht e field is now reversed, keeping its magnitude the
Iohitd L < AEl £ | RET i 1 fermesen § same. A proton is allowed to fall from rest in it
=9 B Heatd E@ h 7 T AR o o @ ) TRl through the same vertical distance h. The time of
. C ; fall of the electron, in comparison to the time of
¥ e o Fﬂ'ﬂ: T T <h Tl i} FoFCH gRI e o fall of the proton is
foram T @ 2 (1) 10 times greater
(1) 107 i (2) b times greater
(2) 5T A
(3) smaller
(3) HH
(4) equal
(4) HWHH
) 23. The electrostatic force between the metal plates
23. HEW Q % Tl fagad warr wfget @enfe C 6 of an isolated parallel plate capacitor C having a
AEA A FTedl 9T h aigwed & = fCr-dga 59 charge Q and area A, is
(1) q%q:ﬂa:ﬁ' % 9 H qfl % aﬂq\a =% W (1) proportional to the square root of the
B 2 | distance between the plates.
e g ST (2) linearly proportional to the distance
2) £ _;T ® 9 H « % ; between the plates.
; (3) 1independent of the distance between the
(3) wigwien < = i gh vt 78 F=a | 1
: plates.
(4) TigFIst % o= 61 gl % AUl el € | (4) inversely proportional to the distance
< - ; bet the plates.
24, Tt @i fgua =1 o foadt vl =i 61 Aferem e
31:],'“('," 304 q,,{:] a; %‘Q m'[ = %’ ﬁ'ﬁ'ﬁ a'@. Yy 24, A tllﬂillg fork is used to produce resonance in a
: i SR glass tube. The length of the air column in this
= ! Wl e 1 tube can be adjusted by a variable piston. At
B 1 27°C F§ 98 W W ) TEE 20 em IR room temperature of 27°C two successive
73 em BN T 3 FHTTE AR 304 B & | AR =i re]sonani:es a;e I];rtllldu;ed at 20 c;nhand 73 m? c]r;f'
%E-F : . column length. If the frequency of the tuning for
a3 1 3 ii 1320 Hz 3, @ 13 § e F 27°C W is 320 Hz, the velocity of sound in air at 27°C is
(1) 350 m/s
(1) 350 m/s (2) 339 m/s
(2) 339 m/s (3) 330 m/s
(3) 330 m/s (4) 300 m/s
(4) 300 m/s
25. A pendulum is hung from the roof of a
25. HIE AP TH Hh S= a4 6 Id U AeH 8 AR gufficiently high building and is moving freely to
T A -Cﬁaq; CAR NG o ¥ o a3 e == and fro %ike a simple harmonic oscillator. Th'e
w2 T g5 m = T T acce]er%tmn of ‘the bob of the pendulum is
5 3 20 m/s® at a distance of 5 m from the mean
S 20 m/s” ® | G 1 ARAD position. The time period of oscillation is
(1) 2s (1) 2s
(2) ms (2) mns
(3) 2ms (3) 2ms
4) 1s 4) 1s
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26.

27.

28.

29.

05 kg m! 9fd 51 AwaTE goAue i Rt a1g
gfew o2 + wF Fee e 9@ = oS afs w300
I IV FF@I R, T TG | 39 B H gAY foEg
Y] YATEd FU A9 Thd T8 o 9 s9 W\ W
0-25 T IRUT Sl TFahid &1 Heaier o & w1 = @
% | BT T BR Wy % fou w5 e a2

(1) 1476 A

(2) 598A

(3) T14A

4) 11-32A

foreht forgq-gr & yai % = vloradh vl $i
% Al 9 Seaisr T 3 | 99 frp-grs | am
varfga i S 8, 9 98 I Afaw e &3 U 9E
SR H AR ThA G TN 7 | TW THR T8 B Toed™
feufesr oty &l @ | UE B % T e
% T

(1) B & Yerd &l Ses T

(2) TFEHR &

(3) Torea @

(4) 9fE g s 7 aiEd geEhe em O e
GRS

20 mH 1 FE 3F, 100 uF F1 FIE TG 997 50 Q
1 1§ Sferiash, fa.91. T9 (emf), V = 10 sin 314 ¢
% ot &a & Iof) & gaifdm € 13m0 wiwy § wfyg
&7 3

(1)
(2)
(3)
(4)

2:74 W
0:43 W
079 W
1:13 W

et =a posel Aeganfer 6 g gnfgan 5 divimA
3R dicear gorfEal (T $91% dicedl § 399 i
faad) 20 div/v & | 38 fieaanfiet =1 afedig 3

26.

27.

28,

29.

A metallic rod of mass per unit length

05 kg m ! is lving horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

(1) 1476 A

(2) 598A

(3) T14 A

4) 11:32A

A thin diamagnetic rod is placed wvertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
gravitational potential The
required to do this comes from

(1)

energy. work

the lattice structure of the material of the
rod

(2)
(3)
(4)

the magnetic field
the current source

the induced electric field due to the
changing magnetic field

An inductor 20 mH, a capacitor 100 puF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is
(1) 274W
(2) 043 W
3) O07T9W
4) 1'18W

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) 18 20 div/V.
The resistance of the galvanometer is

(1) 2500 (1) 250Q
(2) 258 (2) 250
(3) 408 (3) 40Q
(4) 500 & 4) 500 Q
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30.

3@ o T 3R SO h ¥ T¥oRfEa vy % sglm
o J1ae & A 9o % fivg, AWM AB =D %
FeATR T4 HI S-Sk T Al 8 | 99 Home h 7R

B

30. A body initially at rest and sliding along a

frictionless track from a height h {(as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

h h B
I
l ) | :
A A
7
(1) g D (1) % D
2) D 2) D
3
@ 3D 3) %D
@ 2p D
4 4 D
81. @ fivg, A : (T 3@ ), B : (T QE_IEH |31, Three objects, A : (a solid sphere), B : (a thin
THdl) ag C : (Th gEER Igl), SFH Tes @ circular disk) and C : (a circular ring), each have
TegHE M aen 5= R 2, T S = o ¥ 39 the same mass M and radius R. They all spin
wafif welt % oid: T R F | 3 R § with the same angular speed ® about their own
: symmetry axes. The amounts of work (W)
;ﬁq & f@ﬂ E;ﬁ awl SHrEEE FE (W) & fe required to bring them to rest, would satisfy the
-1 TEY ? relation
{1) WB}Wﬁ} WD (1) WB}WA}WD
(2) W,>Wp>Wg (2) Wy>Wp>Wg
(3) WG}WB}WA (3) WU}WB >WA
(4) Wﬁ}wﬂ}wﬂ (4) Wﬁ}WC}WE
32. A moving block having mass m, collides with
32, TEUE m %1 U TS IEH, 4m FEAHM % ol another stationary block having mass 4m. The
Egﬁ fOR e O UuE AT B | AT F YIS Sh lighter block comes to rest after collision. When
oy : the initial velocity of the lighter block is v, then
1 aﬂﬁl’ﬂ;ﬂ;ﬁﬁ = S % l(aj%wgfq %E: o the value of coefficient of restitution (e) will be
AR o v JeATEIA 70T (e
’ (1) 08
(1) 0-8 (2) 025
(2) 025 (3) 05
(3) 056 4) 04
(4) 04 i . .
33. Which one of the following statements is
33. Trfafiaa § @ s woF e 27 incorrect ?
1) =¥ Te Sl TR w1 BT wa (1)  Frictional force opposes the relative motion.
(2) @ﬁ% U&UT =1 m*_d = a_ﬁ:lm gﬁm % (2) leltlﬂg value of static friu.?tion 15 diI'ECtl}T
S T proportional to normal reaction.
(3) Rolling friction 18 smaller than sliding
(3) wireier wur o wdor ¥ %0 g @ | Bt o
(4 gl = o bt fomnd e B i % wwE (4) Coefficient of sliding friction has
Bl E | dimensions of length.
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34, =E fgoin #R 9 W 3mEwm g 2 ot wagm |34. A toy car with charge q moves on a frictionless
ﬁ@\-a}ﬁ' E’ ¥ ware § et s amaa Sf 75 hm:}zanta]lpitallle sﬁu}ifla%a) urlljder ihet;nﬂ?ence o_f]::}a
ﬁ E . — uniform electric fie . Due to the force qE,
¥ 31w % " e @K % its velocity increases from 0 to 6 m/s in one
FRU TR AT 0 H 6 m/s T OT@ § | I W second duration. At that instant the direction of
ﬁ@\-&}lﬂ NfemIHIRAITNE 130 83 the field is reversed. The car continues to move
T § R 3% 2 URve 9 g Sl R | 0 | for two more seconds under the influence of this
3 FEvE % dF Redm ®R % afma A ot s field. The average velocity and the average speed
5 of the toy car between 0 to 3 seconds are
=T HHA: ;
respectivel
(1) 1m/s, 3-5m/s (1) ¥ 1 m.*’s,:,r 356 m/s
(2) 1m/s, 3 m/s (2) 1m/fs, 3m/s
(3) 2m/s, 4 m/s (3) 2m/fs, 4m/s
4) 1-5m/fs, 3m/s (4) 1'5mfs, 3m/s
35. 399 M 0 & ot e o199 99 ABC W m(35. A bé{;ck EfB Igas? m iT placed 0911 a sm}c;ath inc]mﬁd
FE =i ﬁmf@m wedge of inclination as shown in the
e qﬁ_fT Eﬁé‘ . 3 ? l;;:j EI?I%I’JT figure. The wedge is given an acceleration ‘a’
T ‘o’ e STl & | Sl HIER towards the right. The relation between a and &
@+ % AU a 21 0 % o= w99 &m for the block to remain stationary on the wedge
1 s g
A 15
2 A
N
a
~—-0 a
C B ———8
(1) a=gcosb C B
g (1) a=gcosB
@ a=-— g
gin © (2) a=
sin 6
3) a=—= .
cosec 0 (3) a=
(4) a=gtanb i msecﬂ@
crm B4t 5D el a=gtan 5
36. 75 (2,0,-3)W I F =41 +5] -6k #|36  The moment of the force, F=4) +53~ _ 6k at
fag (2,-2,-2) o Yi: AT 2R (2, 0, — 3), about the point (2, — 2, — 2), is given by
(1) -7i-8] -4k (1) -71-87 —4k
@ -4i -7 -8k @ -43 -7 -8k
3) —-8i-4] -7k @) -81-47 -7k
4 -7i-4] -8k 4 -71-4] -8k
37. Tt ® 7 so9ma = oY Tig % ¥ AW 0-001 cm (37, A student measured the diameter of a small steel
STeTaTF 9T o ¥ 2R A & oy 1 o ball using a screw  gauge ‘Gf 'least count
- . 3 0-001 cm. The main scale reading is 5 mm and
5 mm 3R eI ™ =pl XA e # 25 | zero of circular scale division coincides with
FWRE | AR 5 TS | AT 3‘% — 0-004 cm &, 9l 7ig 25 divisions above the reference level. If screw
HT HE] S BT gauge has a zero error of — 0-004 em, the correct
1) 0-053 cm diameter of the ball is
(1) 0053 cm
(2) 0525 em (2) 0525 cm
(3) 0521cm (3) 0521 cm
(4) 0-529 cm (4) 0529 cm
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38. <R3 39 e TFa AT T o= gufify o121 &5 ofig: | 88. A solid sphere is rotating freely about its

gymmetry axis in free space. The radius of the
IR F W PH F @R | T A F G T sphere is increased keeping its mass same,

@ i T B o T{E $ I B | M % o Which of the following physical quantities would

Fafafga § @ R difes ufy e @i 2 remain constant for the sphere ?
(1) oofi i ot (1) Rotational kinetic energy
(2) Sged ATt (2) Moment of inertia

(3) a%’rtrﬂ?:r En (3) Angular velocity

(4) Angular momentum

(4) i F&m
_ | 39. The kinetic energies of a planet in an elliptical
39. “r'Ef F TN 3K ﬂ‘aia?ﬁ?:r Fe § TiemE ug $i e orbit about the Sun, at positions A, B and C are

A, B 3R ¢ W nfow Sod shaT:; Ka, Kp 3k K. 3| K., Kg and K, respectively. AC is the major
AC @1 s1e & qem @ £ Tl § | SB ﬁﬁl‘E[HT( ] axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
HY ACH 9= 2 | 99 ™
en
B B
A 3 C A 3 G
{2) Kx_':'i = KB e KC (2) KA - KB P KC
4) Kg>Ku>Kq 4) Kg=Kju>Kg

40, qﬁ ‘Eﬁ 1 ¢TI % TT —&‘r’l GE Eﬁﬁiﬁ w&m 40, If the mass of the Sun were ten times smaller

and the universal gravitational constant were

et afmmr 9 10 7 &1, & F=fataa § 9 s ten times larger in magnitude, which of the

ud T R ? following is not correct ?

ST ] ST ST (1) Time period of a simple pendulum on the
(&L Ej Lo b 3 T | Earth would decrease.
2) R ™ : ) l (2) Walking on the ground would become more
(3) a9l = < o/l W 3t 9w o it difficult.
(4) 9zt W ‘g% IF | giEds T8 g | (3) Raindrops will fall faster.

) ) (4) ‘¢ on the Earth will not change.
41. TH 3 WA ST TG A ] | ARA fa § T5g

o TR S (K, % weee sl i st | 41 A solid sphere is in rolling motion. In rolling

motion a body possesses translational kinetic

(K,) ¥t gicft 2 | Mt & forw K, ¢ (K, + K,) &7 1301 energy (K,) as well as rotational kinetic energy

AT (K,) simultaneously. The ratio K; : (K; + K,) for
1) 10:7 the sphere is
b e
(3) 7:10 2 7:10
4) 2:5 (4) 2:5
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42,

43.

44,

45.

T ¢ A1 1§ &Y Tien ferrmreeen ¥ frft mm oga o
FRAT & | T@9 ¥ % HRU 385 S 3699 Bl § |
T & Afm (FfFa) a1 W IEF T H W
freffon 3 & Rres smTa 2 2 2

1

2) 12

3 1

4

foreht Ffomem g fafsia of@m P & qeon I s,
Ao W frman Hi fafefa st 2 1 s Al s

FHOreR1 1 q9 GREfda FX e s 2, e {5 ¥
2 ho et T stfen i e w3, @

To g afria vfem nPEI S 8 | n 1 99 B9

256

1y 22
(1) 31

(2)

(3)

W | o o | B

8L
256

3 TR 99 991 % =9 8 3R gHi % aEad o 99e
8 | Tedt AR S STTEAFR F ATEA A IR g AR
H ATTAFIE FT A% 3A 3 | I 969 F T
TR aR F TR Al F1 gig F I 7, I TR AR
h oFaTg 0 A el 8 gig B % T e W H
AT FAT 2

(1) 4F

(2) 6F

3) 9F

4 F

(4)

UM T9 (1013 x 105 Nm™2) 3 100°C a9 I
0-1 g & % T HI 100°C H Y H uiafda w &
o 54 SO0 T FA1 H ArETIHAT B 2 | IR
Ieqd WY HT ARG 167-1 cc B, A W A H
Fr=afes a1 H uiEdT 2

(1) 42:24J

(2) 2087J

(3) 104-3J

(4) 84:5J

42,

43.

A small sphere of radius 7’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

G r°

@ 1

3) r

4) 1t

The power radiated by a black body is P and it
radiates maximum energy at wavelength, 4, If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength % Ags the power radiated by it

becomes nP. The value of nn is

256

(1) 1

(2)

(3)

o - R

81
256

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire 18 increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount 7

(1) 4F

(2) 6F

(3) 9F

4) F

(4)

A sample of 0-1 g of water at 100°C and normal
pressure (1-013 x 10° Nm ™% requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 1671 cc, the
change in internal energy of the sample, is

ACHLA/AA/Page 13
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46. N-Fiffen T TR ST STeRarsTi T 92dl g3 46. The correct order of N-compounds in its
T w2 decreasing order of oxidation states is
(1) HNOs, NH,C], NO, N, (1) HNOgz NH,CI, NO, N,
(2) HNO,, NO, NH,CI, N, (2)  HNOg, NO, NH,CL Ny
(3) HNO4, NO, N,, NH,CI] (3) HNO4, NO, N,, NH,CI
(4) NH/CI], Ny, NO, HNOg4 (4) NH,C], Ny, NO, HNOg4
47. Fiafea # @ sHw@ 7= MFBS T WFA ¥ H|47. Which one of the following elements is unable to
argEd 3 2 form MF_ ion ?
(1) B (1) B
3) Ga 3) Ga
4) In @
7 il
48. URTgW AR@ &l ©F § @ gy HHfatEd # ¥
H-H oqTg A ST ﬁg&[:n ¥+ 9==9 U a7 o1|48. Considering Ellingham diagram, which of the
TR 9 following metals can be used to reduce alumina ?
(1) Mg (1) Mg
(2) Zn (2) In
(3) Fe (38) Fe
4) Cu 4) Cu
49, Tfafea o ¥ 7 13 =% a1 § g Beaneti #1|49.  The correct order of atomic radii in group 13
HT-H7 9 Tal 2 2 elements is
(1) B eGaediedlcn (1) B<Ga<Al<Tl<In
B BedleGuieindh (2) B<Al<Ga<In<Tl
(3) B<Al<In<Ga<Tl (3) B<Al<In<Ga<Tl
4 B<Ga<Al<In<Tl 4) B<Ga<Al<In<TIl
50. Bl + fou ffafiga © @ =93 = g 777 |50, Which of the following statements is not true for
89 halogens ?
1) E % — = tef (1) il;t92ut fluorine show positive oxidation
WﬂTf{: 8! (2) All are oxidizing agents.
(2) ¥l iR Tt § | @) AlS bt =
o : orm monohasic oxyacids.
(3 g (4) Chlori has th lir'gh st electron-gai
- ine ha e highest electron-gain
(4) T F T o T T B | enthalpy.
51. ClFg ﬁ i :‘ USRI T CY W Ul W 51. In the structure of CIF;, the number of lone pairs
Sélﬂgliii 1 T} of electrons on central atom ‘Cl’ is
(1) =R (1) four
@ = (2) two
(3) Wh (3) one
(4) = (4) three
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52. frafaRan aififen sfeen ¥ 77 s P, Q 3k R|52. Identify the major products P, Q and R in the

 yaefe following sequence of reactions :
EER Anhydrous
AICI AIC]
O + CH,CH,CH,CI 2 . @ + CH3CH,CH,Cl 3
i) 0 @0
o - > QG +R P.— 2 " > Q+R
(11) H30+fﬁ (11) H30 fﬂ
P Q R
P Q R
CH(CH,), OH
CH(CH,), @’ CH,CH(OH)CH,

OH (1)
(1) @f CH,CH(OH)CH,

CH,CH,CHy  CHO  COOH

-0 0.0 |7

CH,CH,CH; CHO

(3)
(3) } _ CHyCH, - OH
OH
CH(CH,), 4)
4) @ _ CHz— CO - CHy

CH,CH,CH, CHO  COOH

0.0

CH,CH,CH; CHO

), e, -on

O

OH

CH(CHg),
, CH3 — CO — CH,

L O

53. frefafaa & @ s 9 [Rgeeme o971 gwar|53. Which of the following compounds can form a

29 zwitterion ?
(1) S=AIs%H 37 (1) Benzoic acid
(2) uHiReme (2) Acetanilide
(3) U\ (3) Aniline
(4) TATEHH (4) Glycine
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54, o 9g stgan e Sgerehi & el ¥ fyfafeq # [54.  Regarding cross-linked or mnetwork polymers,
T R FIH T D9 which of the following statements is incorrect ?
1) Fremee e e T SEEw E | E;; Eiamplesfare bzk;hte 21.11:1 mzl:r?}ne. o
(2) % EE = 'E-!_a“ E E = 'ﬁ a; ﬁ ﬁ moi};;re;ﬂme 011 D1- ar r-Tanciiona
4 % | '
) _ (3) They contain covalent bonds bhetween
(3) Eﬁ CILES i@ﬁa geteh SCRICIIIE various linear polymer chains.
SEERIEED GTTEI‘E[ i % | _ ‘ (4) They contain strong covalent bonds in their
(4) IhI EENED ’i{@"ﬁﬂeﬂ # Ugd HEEINS AU polymer chains.
B E | 55. Nitration of aniline in strong acidic medium also
55 IR = 3 5 =T - gives m-nitroaniline because: ‘
o 3 iR (1) In absence of substituents nitro group
m- Hsil {fref il always goes to m-position.
(1) feeomys $1 ogufeafd § TG wgg gE (2) In electrophilic substitution reactions
m-fefd ST | amino group is meta directive.
(2) TowRwE i sfufe # i @ (3) In spite of substituents nitro group always
m-T2sreTd 2 | goes to only m-position.
(3) wfeeames = Iufedfa = EIEE :ngg"‘[ TR FU R (4) In acidic (strong) medium aniline is present
Fae m-Teaf o & Srar 2 ) as anilinium ion.
(4) = (J9a) giem § Uil Ufeifm s |56, The difference between amylose and amylopectin
* 9T B E | is
. + (1) Amylopectin have 1 — 4 o-linkage and
(1) UHEANEA § 1 > 4 o847 a9 1 - 6 -84 3 (2) Amylose have 1—4 co-linkage and
(2) U E1 54 T TN 16 PR 1 - 6 B-linkage
(3) UAENFAT1 > 4 ¢ a0 1 - 6 o997 (3) Amylopectin have 1—4 o-linkage and
2 1 — 6 a-linkage
(4) UfiE TEE T R | T R (4) Amylose is made up of glucose and
galactose
57. 23 g Wilish 3T A 4-5 g WA A H W5 |57, A mixture of 2:3 g formic acid and 45 g oxalic
H,S0, ® BT Em W Ieaita Td Wevr i KOH acid is treated with conc. HySO,. The evolved
* Bie | H ISR ST 2 | STP W = gaseous mixture is passed through KOH pellets.
I gG 3ciTq
FT IR (g H) FM Weight (in g} of the remaining product at STP
W 28 vill e
(2) 30 (1) 28
4) 44 @) 14
(4) 4-4
58, T=fafga § o +H-dl HAfwoEs 6 waiftes ey , , o
0 58. Which of the following oxides is most acidic in
T 8 7 nature ?
(1) BaO (1) BaO
(2) BeO (2) BeO
(3) MgO (3) MgO
(4) CaO (4) CaO
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59.

TgHed § Yhid T ama fsraeti g1 & fafta Treem
T HI-H ATFHIZE WER TEF E7T 8 ?

59,

Which oxide of nitrogen is noet a common
pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) NyO
(1) N0
2 NO,
@ NO,
(3) N,Of
(3) N,Og
4) NO
(4) NO
0. A A = Na ¥ Ui @~ W 98 B <ar g ad . :
- ~ 7 [60. The compound A on treatment with Na gives B,
PCl; % F1 AR FEH WAE C MR | B W C and with PCl; gives C. B and C react together to
5
2HT S e § i wEm W oeEgRe R give diethyl ether. A, B and C are in the order
| A,Bd ¢ A
e . (1) CyHxCl, CoHg, CoH;OH
(1) CyHsCl, CoHg, CoH;OH
(2) C,Hs0H, C,H:Cl, CoH ONa
(2) C,H:0H, C,H:Cl, C,H;ONa
(3) CyHzO0H, C,Hg, CoHCl
(3) CyH5O0H, CyHg, C5HLCI
4) C,yHxzOH, C;H;ONa, CoHCl
(4) C,yHzOH, C5HzONa, CoHgCl
. 61. The compound C;Hg undergoes the following
61. AR C.H, Frefafga srfirfsrnet o qoran 2
b 8 ? reactions :
3Cl,/A Bry/F 3Cl,/A Bro,/Fe Zn/HCI
O H, BB 19 e}Ban’HCLC C.H, b il W el L T Lo
I ‘O 2 The product ‘C’ is
(1) 3:9:1143[-2, 4,6-533@%@? (1) 3-bromo-2,4,6-trichlorotoluene
(2) oS (2) o-bromotoluene
@) mIFERE (3) m-bromotoluene
(4) p@ﬁ"ﬁﬁ@? (4) p-bromotoluene
62. Hydrocarbon (A) reacts with bromine by
62. 3I$§l A (A) SIHA § SidedT gra sAfishan e substitution to form an alkyl bromide which by

s Ufewa SIHEs o1 & o1 7 adw erfufrn g
g ey o uRafda g & e 6 o) & =+
e T | (A) B

Wurtz
hydrocarbon containing less than four carbon

reaction 18 converted to gaseous

atoms. {(A) is

(1) CH,-CH; (1) CH, - CH,
(2) CH2 = CHE (2) CH2 = CHE
(3) CH=CH (3) CH=CH
(4) CH4 (4) CH4
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63. T=ffaa o & form o1y o o ¥ Trd & wHmUERT © (68,  Which of the following molecules represents the
spz, spz, Sp, Sp TRI0T T ST 8 2 order of hybridisation spz, spg, sp, sp from left to

right atoms 7
(1) CH,=CH-CH=CH, (5 Gl O = B OH
2= . = 2

2) CH,=CH-C=CH
@, (2) CH,=CH-C=CH

(3) HC=C-C=CH (3) HC=C-C=CH

(4) CHz-CH=CH-CHjg (4) CH;-CH=CH-CH;

64, Tfafgs o @ FHw FEwe @it ol , , o
Aara & 2 64. Which of the following carbocations is expected to

be most stable ?

NO,
NO,
o H7®
Y/ @ (1) H
v/ &
NO,
NO,
o @
2)
Y H
Y H
NO,
NO,
3) !@ .
Y H @
Y H
NO,
H
(4) H

e
"

Q)
4) >®

65. fefafan # @ yfowenrehl % -1 ywra &% wed d 65. Which of the following is correct with respect to

=1 w7 2 (R= ﬁ%ﬂ) — I effect of the substituents ? (R = alkyl)
(1) -NHy;>-OR>-F (1) -NHy>-OR>-F
(2) -NRy;<-OR<-F (2) -NR;<-0OR<-F
(8) —-NHy<—-OR<-F (3) -NH,<-OR<-F
(4) -NR;>-OR>-F (4) —-NRy;>-OR>-F
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66. T4 ITfufzraT 66. In the reaction

OH O™Na* OH O™ Na*
@ + CHCl; + NaOH ——> @F CHe @ + CHC; + NaOH ——> @ EHE
" wirafem Eé—q"ﬁﬂ@—epl £ the electrophile involved is
(1) SEFARHRE FROmRH (gHCIE) (1) dichloromethyl anion ((E:;HCIQ}

(2) wifdel A (EHO ) (2) formyl cation (%)HO )
(3) SRFARIYRA TARA ((%_)HCIE) <

(3) dichloromethyl cation { CHCl, )

4 :CCl
(4) SEFAREEE (CC 2) (4) dichlorocarbene (:CCl,)

67. it et < EIR . g I gj _ B87. Carboxylic acids have higher hoiling points than
Al Ufesersel, HieH w8l @ e Uewiglel 9 aldehydes, ketones and even alcohols of

IHT B 3 | 98 Thus SR g 8 2 comparable molecular mass. It is due to their
(1) wEiaates sl &1 Al =us W et (1) more extensive association of carboxylic
fo1 it 3 T B 2 acid via van der Waals force of attraction

—— (2) formation of carboxylate ion
(2) (3) formation of intramolecular H-bonding

(3) IAR:IANVGH FRGH qE T (4) formation of intermolecular H-bonding
(4) FUATNEE BRE 8997 977 °
68. Compound A, CgH,,0, is found to react with

NaOlI duced b ting Y with NaOH d
68. UH A & A, CgH,oO S B NaOI (Y &1 sififean SO ipmcuceil pyraeashing Xyl NaOhien
vields a vellow precipitate with characteristic
NaQOH & &% a1 ) § Afuisken ek enafirs dinall
Ty AT i A& 4 B | A and Y are respectively
A R Y wue: 3

@ ¢ CH — CH, 3 1, o ¢ ) CH ~ CH; and T
OH OH
@ ¢ - CH,-CH,-OH 3R, @ ¢ ) CH,-CH,-OHand 1,

(3) HC —@— CH, — OH afit I, (8) HC —@— CH, - OH and I,
CH, CH,
(4) CH, @ OH 3R I, (4) CH, @— OH and I,
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69. o I © R Tw urg oAl w1 wi@w [I § R 77|69, Match the metal ions given in Column I with the

SEET & R0 gl_qq:]q 3:|Ta‘;\uﬁ I fieET g gpin magnetic moments of the ions given in
. ) Column II and assign the correct code :
#@gt wha %l f[fdse $ifsu
— o 1] Cﬂf;imnf J(iﬂﬂumn I7
T & i. 8 B.M.
a  Co® i V8 BM. o 1 i
h. Cr" 35 B.M.
b. Cr’* ii. /35 B.M. rg B 5
. Fe™* iii. +3 B.M.
c. Fe iii. 3 B.M. ! H .
d. Ni** iv. /24 B.M.
4 NiZ* iv. 24 BM. ' " T
: 15 B.M.
v. 15 BM. c
a b c d
a b c d
. . i % (1) iv i ii iii
(1) 1iv 1 il 1i1
: ” ; (2) 1 ii iii iv
(2) 1 ii 1il v
; 2 ; (3) iv v ii i
(3) iv v ii i
: - (4) il v i ii
(4) 111 v 1 il
. : 70. Which one of the following ions exhibits
70. Fiffed # @ S S d-d FEHAU g1 B qe d-d transition and paramagnetism as well ?
1Y Bl e ot ? 1) MnO;
(1) MnO, 2
g (2)  Cry02
D
(2 Cr;0 _
b o0 3 Cro}
9_
(3) CrO _
: 4 MnO3
9
4) MnO
@ 2 71. Iron carbonyl, Fe(CO)y is
71, 3ARA el e, FE(CO)5% (1) trinuclear
(1) g (2) mononuclear
(2) Thhgh (3) tetranuclear
(3) ﬂ'g’[ﬁﬁﬁ% (4) dinuclear
) T 72. The type of isomerism shown by the complex
72. A [CoCly(en),) T Yeifa Fome=a =1 75K § [CoCloten)y] 18
(1) T T (1) Iﬂnizaj:iﬂn'isofnerisn?
(2) IUHREAS SHETE Ei; goordnsitm:l. 150111&1.'13111

(4) =9 THE"EAT (4) Linkage isomerism

73. The geometry and magnetic behaviour of the

78.  [Ni(CO),] wge 1 Sunfirfel uel grarehi™r 7 & complex [Ni(CO),] are
(1) = wwael saiHf o mggzaﬁzr (1) square planar geometry and paramagnetic
(2) TGEHEAHE ERLEISREC] Fﬁ@-‘*"ﬁ? (2) tetrahedral geometry and diamagnetic
(3) o THa SATid v SfagrrhE (3) square planar geometry and diamagnetic
(4) <THARME sifufa w ST Fh (4) tetrahedral geometry and paramagnetic
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74, Tafafiga foeeai 1 NaOH w@ HCl it fim-fim |74, Following solutions were prepared by mixing

ATl wd arEst T . different volumes of NaOH and HCI of different

S T = form & TR concentrations ;
M M

a. 60mL = HCl + 40 m1. T NaOH 0 80mL % HC + 40 mL % NaOH
M M

b, Baml sxHCledomlars RaQH b, BEml % HCI + 45 mL % NaOH
M M

¢ loml — HClLeZbml, = NaOH ¢. 75mL % HCI + 25 mL % NaOH

4 100mL L HCl+ 100 mL X NaoH M M

' il s 200 mE = Ne d.  100mL o HCl+ 100 mL = NaOH

A PH, 1% 7 ? pH of which one of them will be equal to 1 ?

(1) d (1 d

(2) a 2) a

4) ¢ 4) ¢

fife i 2 9 coagulating pnwe:r of an ion :ilepend ?

(1) R % e e ud s g e w (1) th:é:l;UII:lagnltude and sign of the charge on
(2) A SAEH 6 AH T (2) Size of the ion alone

(3) A AT o AT AT R (3) The magnitude of the charge on the ion
(4) HIA AET H EY g w alone

(4) The sign of charge on the ion alone

: H G| % e 99 ors
76. NH,, H,, 02 002 fer 76. Given van der Waals constant for NHy, H,, O,

IR 4'1?1’ 0-244, 136 T 359 fm M ¥ | and CO, are respectively 4:17, 0:244, 1-36 and
frefafas d ¥ w0 i9 ge@ smer @ goa gt = 3-59, which one of the following gases is most
7 easily liquefied ?

(1) Oy (1) Oy

(2) H, (2) H,

(3) NH;4 (3) NH,

4) CO, (4) COy

77. The solubility of BaSO; in water is
242x107° gL' at 298K. The value of its
solubility product {KSP} will be

77. BaSO, H 298 K W Ia ¥ faeigar 242 x 1073 gLt
# | o eea (K ) 1 W FEm

(T 7 2 BaSO, 1 HIGR 5o47H = 233 g mol ') (Given molar mass of BaSO, = 233 g mol™)
(1) 108x 107* mol® L2 1) 1-08 % 1074 mol® L2
(2 108 x 10712 mol® L2 (2) 108 x 1072 mol?® L2
(3) 108 x 107" mol® L™ (3) 108 x 107 mel? L2
4) 108 x 10~ mol? 1.2 4) 1-08x 10° mol? L2
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78.

79.

80.

81.

or foufa o ot = s7upeti it Tea it 2 7

(1) 1atmTd 273 KW 0-00224 L 57 9159 % faQ
(2) 018 g9 % foU

(3) 18 mL¥d = fomw

(4) 1073 ™ 5@ = form

ye wife wa fodfim it sifsenet o odt fafimmar 2

(1) 9em wife 6 sAtulEa Fi 33faE w51 g=a
3. fedfia =ife i sfifsran =51 saifa & o =
qhdl &

e i 1 stfufsrn B srd-ang (A, W sl
T8l %; Tl ife i srfufsean it srd-amy (Al
w fft B

g wife 1 sfutrm = m e =
argaadl W faR T s & fedm =i &
Afufsra =1 9 sfieens i argaren = sk
+ 8

g wife 1 sfutrm = m e =
et R T v B; fedfim =iz 6 arfufsn
&l A AR i wrgaret i At 7d8 s
3

CaH,, BeH,, BaH, I 3T Yhfd %1 F0 8

(1) BeH, <BaH, < CaH,

(2) CaH, < BeH, < BaH,

(3) BeH, < CaH, < BaH,

(4) BaH, < BeH, < CaH,

=l few T emw o, s i et srEedt §

yftad fafie . sa (emf) 7T W ewiiEn m=n 2
_ 18V _ 15V

(2)

(3)

(4)

78.

79.

80.

81.

In which case is the number of molecules of water
maximum ?

(1) 000224 L of water vapours at 1 atm and

273 K
(2) 0-18 g of water

(3)
(4)

The correct difference between first-
second-order reactions is that

(1)

18 mL of water

1{]'3 mol of water

and

a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

(2) the half-life of a first-order reaction does not

depend on [A];; the halflife of a
second-order reaction does depend on [A]

the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(3)

the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

(4)

Among CaH,, BeH,, Bal,, the order of ionic
character is
(1) BeH, <BaH, < CaH,

(2) Cal, <BeH, < BaH,
(3) BeH, < CaH, < BaH,
(4) BaH, < BeH, < CaH,

Consider the change in oxidation state of
Bromine corresponding to different emf values as

shown in the diagram below :

Br0; ———» BrO; ——> HBrO Bro; 22V, mo; 22V, mmwo
Br “Toeszv B2 “Tsesv Br < oeov B “Trosv
HA-d Tfofs STEHIEA ¥ IR § ? "I‘hen the species undergoing disproportionation
(1) Bry *
i (1) Br,
(2) Bro; @ Bro;
(3) Bro; (3) BrO;
(4) HBrO (4) HBrO
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82, g AfubRaT 82. For the redox reaction
MnQ, + CEOEF + HY — Mn?*+ CO, + H,O MnO, + CEOf_ + HY 5 Mn®* + CO, + H,0O
. i Q 5 . the correct coefficients of the reactants for the
; fer E@I;IEI = foe % Hel e balanced equation are
MnO; C,0;- H'
MnQ; C,0°- H'
4 24 1y 2 16 5
(1) 2 16 5 (2) 2 5 16
(2) 2 H 16 (3) 16 H 2
(3) 16 5 2 4 5 16 2
4) 5 16 2
83. Which one of the following conditions will favour
83. ifiea  frfefen & 4 #-d o oifeom seme| aximum formation of the product in the
ﬁnﬁ%mmnﬁi Ay(®) +By(g) =Xy (g) AH=-XkJ?
Ag(g)+Byg) = Xp(g) AH=-XkJ? (1) High temperature and high pressure
(1) 3= a9 IIET. 3= T (2) Low temperature and low pressure
(2) T am U:":" = 7= (3) Low temperature and high pressure
(3) ¥ W vd 3= g™ (4) High temperature and low pressure
4) 3= ¥ @ B e .y . ;
84, When initial concentration of the reactant is
doubled, the half-life period of a zero order
84. o a1firRe N IR Trgm i g fRe S R, reaction
@ 3 wife sififr & fom srdomg == (1) is tripled
(1) o e 2 (2) is doubled
(2) A (3) is halved
(3) 3T BT 8 (4) remains unchanged
) T} 85. The bond dissociation energies of X,, Y, and XY
. : are in the ratio of 1 : 0-5: 1. AH for the formation
85. Xy, Yp 3R XY H1 WY ToRIITH Flall Fl ST of XY is — 200 kJ mol™". The bond dissociation
1:05:1 % | XY % Ffm Hi e energy of X, will be
AH = - 200 kJ mol™! 3 | X, # sney fopliem wt (1) 800 kJ mol!
Ll (2) 100 kJ mol ™
(1) 800 kJ mol ™ (3) 200 kJ mol !
(2) 100 kJ mol ™" (4) 400 kJ mol ™
(3) 200 kJ mol ™’ . . .
= 86. The correction factor ‘@’ to the ideal gas equation
(4) 400 kdJ mol corresponds to
86. 3zl g Tl ¥ wuieE U7 o G 2 (1) elmi*,trl;;:l field present between the gas
: molecules
(1) T\ A=Al & Hed Iufead fagq-aa o
- N (2) wvolume of the gas molecules
2) 1 ; I (3) density of the gas molecules
(3) & ﬂgh % W | + (4) forces of attraction between the gas
(4) 7T AURAT S geq AR FAl A molecules
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87.

88.

89.

Feferiga wdfefie W femm Hikn
CN*, CN~, NO aa CN

T ¥ frusht = ey Hife 2 2

(1) CNT

(2) CN~

(3) NO

(4) CN

IR T 9w (X)) § sifufsrn == w smats
qifes =@ 2 1 AR (X)) w1 Frean s@wen o

Tei-e oM 1s? 252 2p° 2, @ 39 9iffe &
T g3 8

(1) MgyX

(2) MgX,
(3) MgoX,

3T I A % T8 W bee TGEH1 a1 8 | 900°C %
FR I8 fee WTAT ¥ yftafdd g1 Sl 2 | 2mra % st
% 9 9 TFed 1 900°C T19 T =eed T 31U B
(A ST SIRRT =1 Hier geaaH T T B am
+ Ty for §)

33
42

43
3v2

(1)

(2)

(3)

ty) (AL

U HEh diF F9ien "eFel 8 Hicy g sahe
fafde 2 |

'S FF U TR H Gl FEH HIUE HaT
I % S R |
dzz%ﬁ'ﬂmﬁm?ﬁgl

(2)

(3)

(4)

87.

89,

90.

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) CN7
(2) CN~
(3) NO
(4) CN

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 152 25> 2p3, the simplest
formula for this compound is

(1) Mg,X

(2) MgX,
(4) MggX,

Iron exhibits bee structure at room temperature.
Above 900°C, it transforms to fece structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

33
442

43
342

]

J2
1

(4) =

Which one is a wrong statement ?

(1)

(1)
(2)

(3)

The electronic configuration of N atom is
182 2> 2P 2p) 2p;
P () [Tl

An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

(2)

(3)

Total orbital angular momentum of electron
in ‘s’ orbital is equal to zero.

(4)

The value of m for dzz 18 zero.
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91, Trud yew-gvev § HAtedicm 777 Fepedt 2 91. Oxygen is not produced during photosynthesis by

(1) HEHH (1) Cycas
(2) TiEl® (2) Nostoc
(8) UF Uew SF2Iie (3) Green sulphur bacteria
4) 37 (4) Chara
92. TEu =TI R g ? 92. Double fertilization is
(1) &1 JHH B Uh 3 % Y Terd (1) Fusion of two male gametes with one egg
(2) U L IHS HI z PEIR) el % 91 GorgH (2) F‘usi-:}p of one male gamete with two polar
(3) UH WM el &% g1 W e w1 & iy el & nuclei
1Y 9T (3) Fusion of two male gametes of a pollen tube
4) I GerE S P with two different eggs

) (4) Syngamy and triple fusion
93. Fafflas @ @ -0 ey yoyw i v il % Wy SRpaY B

A frepe wremy gt &, fored 3 oft @_@ o 93. Which one of tl}e fﬂ}]ﬂW]Dg pl?tnts shows a very
: close relationship with a species of moth, where
AT STa <056 QUi 7gT 9 EehaT ?

none of the two can complete its life cycle without

(1) el the other ?
(2) FFHT (1) Banana
(3) &Elen (2) Yucca
(4) aFrEr (3) Hydrilla
94. W FUI H 9Ed ¥ 99 % fOU g e o R (4)  Viola
AYHH R USSR R =1 Tehar 2 7 94. Pollen grains can be stored for several yvears in
1) -196°C liquid nitrogen having a temperature of
(2) -80°C (1) -196°C
(3) -120°C (2) -80°C
(4) -—160°C (3) —120°C
95. fmfafga # ¥ $H-uT o Sl § whR 54m (4) -160°C
@ % fu sateEr 2 2 95. Which of the following elements is responsible for
1) TR maintaining turgor in cells ?
@) dHfem (1) Potassium
3) ey (2)  Sodium
@) SferEm (3) Magnesium

(4) Calei
96. RN vET § NAD* 1 qfirt o1 2 2 mE

: 96. What is the 1role of NAD" in cellular
(1) gﬁl AR, g % oy & gfREeREe g9d espiition.?
@) % TF SO 9EF ¥ w0 E FE w@ L (1) Itis a nucleotide source for ATP synthesis.
: (2) It functions as an electron carrier.
(3) T3 TH T9RH % F7 § B Al 2 |

(4) T3 SEEEE TE % fou arfaw o wmE (3) It functions as an enzyme,

8 (4) Itis j:he .ﬁnal electron acceptor for anaerobic
_ respiration.
97. I g TR HE w e A 97. In which of the following forms 1s iron absorhed
i 8 ? by plants ?
(1) Hekd dx (1) Free element
(2) %= (2) Ferrous
(3) WiEh (3) Ferric
(4) i IR & gHI (4) Both ferric and ferrous
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98.

99.

100.

101.

102,

103.

THE W] €T % T gHe % fawe % fag
frfafga & ¥ 9w SR awrE: ygFa R s
g2
(1)
(2)

A IS
Ti e

(3) WHERE (99 97H)

(4) pBR 322

TEUNE FEE R Tl g TR w41 3Es
AR A o oEfd % SaEEEl % OSWEE SO
El 18 ?

(1) S9-3799eA

(2) wrEEER (S gEga)

(3) Ja-IgEH

(4) -3y

gEWE 3T & T srafreea: wwEia SieEl %
Yadd % R H GRAN % oAieA & fo1u WRd H ie-a
TS FAEr 8 2

(1) SIS 9iETed SFEYH 9 (RCGM)
(2) A7 wE e SgEdE 1isg (CSIR)

(8) YNRHE JFRITH 3wy Tiwg (ICMR)
4) srafEs sftEtER geae wfifa (GEAC)

Uiferis @l sAfufsea (PCR) ® =20 %1 §E1 %W
R ?

(1) Trerdeon, foemw, oHfed

(2) 3rifeH, fawa, faepdmm

(3) T, fendie, orfiem

(4) Torpdiertur, stfier, faeaeo

gt guel =l ghT

(1) &=, | —  UTGRHYT

(2) Fox3vrell 5% —  fgue wig
(3) g — iR 3T
(4) . dea —  FFE

T st st o/ e A T 98 R i U=
(werem) Toren o o, ey uE foretl R ® e W
g e € | 78 forod oafm 2 2

98,

100.

101.

102.

103.

Which of the following is commonly used as a
vector for introducing a DNA fragment in human

lymphocytes ?
(1)
(2)

A phage
Ti plasmid
(3) Retrovirus

(4) pBR 322

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(1)
(2)
(3)
(4)
In India, the organisation responsible for

assessing the safety of introducing genetically
modified organisms for public use is

Biodegradation
Biopiracy
Bio-infringement

Bioexploitation

(1) Research Committee on Genetic
Manipulation (RCGM)

(2) Council for Scientific and Industrial
Research (CSIR)

(3)
(4)

Indian Council of Medical Research (ICMR)

Genetic Engineering Appraisal Committee
(GEAC)

The correct order of steps in Polymerase Chain
Reaction (PCR) 18

(1)
(2)
(3)
(4)

Select the correct match :

(1) T.H. Morgan —
(2) F, xRecessive parent —
(3)
(4)
A ‘new’ variety of rice was patented by a foreign

company, though such varieties have been
present in India for a long time. This is related to

Denaturation, Extension, Annealing
Annealing, Extension, Denaturation
Extension, Denaturation, Annealing
Denaturation, Annealing, Extension

Transduction
Dihybrid cross
Ribozyme —  Nucleic acid

. Mendel — Transformation

(1) <= =i (1) Lerma Rojo
(2) Edl IR (2) Sharbati Sonora
(3) Co-667 (3) Co-667
(4) (4) Basmati
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104. fFr=fafga | @r@?-m“gm Terd T H {[ﬁ%?r% ? 104. Which of the following pairs is wrongly
(1) XOwwr fm frafor ¢ Rga matched >
(2) ABO W TUE . TEETRT (1) XO tj,fpie sez.i Grasshopper
@ SEriaeie . . determination
5 - ;g (2) ABO blood grouping Co-dominance
4) s ; (3) Starch synthesis in pea Multiple alleles
105. &gt Fo W AT (4) T.H. Morgan Linkage
(1) FRREEH SAT H W o F | 105. Select the eorrect statement :
(2) v o uh forfem e g ferehfera o (1) Spliceosomes take part in translation.
arl (2) Punnett square was developed by a British
(8) “oporar” weg 1 fAmior Sefe werew 3 fwa | scientist.
(4) UREHAY 6 WIS TH. AeeHE 9 HI oAl | (8) Franklin Stahl coined the term “linkage”.
106. S.UA.T % sreiueed yRapRr 1 TR e gduem (4) Transduction was discovered by S. Altman,
ferot guTi /=T o ? 106. The experimental proof for semiconservative
1) T replication of DNA was first shown in a
5 Sam & (1) Plant
( : (2) Bacterium
(3) FaHH (3) Fungus
4) Tomop (4) Virus
107. Ffafga o & frad 3 Sfiew =@ O *Faa T 91| 107. Which of the following flowers only once in its
(1) (1) Mango
(2) Jackfruit
(2) Iiag“ (3) Bamboo species
(3) M@ T (4) Papaya
(4) odiar 108. Offsets are produced by
108. ‘wiwdew frad grT Ieniad B 3 2 (L Parthenocdrpy
(2) Mitotic divisions
(1) AN g (3) Meiotic divisions
(2) gl fawrs g (4) Parthenogenesis
(3) e fwre g 109. Select the correct match :
(4) SAFYEHSE G (1) Matthew Meselson —  Pisum sativum
109. @ g 1 IAT : and . Stahl
(1) ey Hoewm iR U, WEE - 799 deman (2) Alfred Hersheyand - TMV
Martha Chase
(2) ISR A =m - dum .
(3) Alec Jeffreys — Streptococcus
(3) U\E i b - E?; 2IHIH W pheumoniae
(4) SHIETE SR QU Sied AHIS — & HAUA (4) Francois Jacoband  — Lac operon
110. F=fafgs & & FFm ww = Sawm F w9 4 Jacques Monod
uffrg =0 W wgEs gifea 73N ? 110. Which of the following has proved helpful in
(1) el preserving pollen as fossils ?
= (1) Oil content
(2) WA T S (2)  Cellulosic intine
(3) wa fore (3) Pollenkitt
(4) TRUAAT (4) Sporopollenin
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111.

112.

113.

114.

115.

116.

Fefadt © = el 2 2

(1) =Ta™ I BISd I ATSeq! = T&A

(2) SH

(3) WX

(4) ok Y | sfed] o AT 9Tl shl T
forva etisia feaw =9 wamn o 2 2

(1) 16 faaer

(2) 2130

(3) 5
(4) 2230

frfafaa ° & = o fifas wgvs 8 2
1) S0,

@ CO,

(3) CO

@) O,

A F g ?

(1) qUAE H 98 W S Sa & & % fau
=13

ag Hifaes Tomrm 8 v Sfiaur w3

fia & yateTer | uvl Sfees s

&1 3

Frfafga siwet @ fra wopr =1 uiftfeafefia fitfie
yed Rt STem 2

fadiae Susde - 120 ¢

e 3T : 60 g

I 3eEs : 10 g

T&a] &1 dian fife

F1 w1 e

(3) StaHmE w1 3l fRine

(4) SIuEn = Hian fitfre

gramued H, SiEN % fapdiemr R emfvasw
il & gl § F=fafen § @ w9 o=

3 & ®9 § 1 Hal & ?

(2)
(3)
(4)

(1)
(2)

111.

112,

113.

114,

115.

1186.

Natality refers to
(1)
(2)
(3)
(4)

Number of individuals leaving the habitat
Birth rate

Death rate

Number of individuals entering a habitat

World Ozone Day is celebrated on
(1)
(2)
(3)

(4)
Which of the following is a secondary pollutant ?
(1) S0,

@ Co,

(3) CO

4) O,

Niche is

(1)

16t September
21% April
5% June

227 Apyil

the range of temperature that the organism
needs to live

(2)
(3)

the physical space where an organism lives

all the biological factors in the organism’s
environment

(4) the functional role played by the organism

where it lives

What type of ecological pyramid would be
obtained with the following data ?

Secondary consumer : 120 g
Primary consumer : 60 g
Primary producer : 10 g
(1)
(2)
(3)
(4)

Upright pyramid of numbers

Pyramid of energy

Inverted pyramid of biomass

Upright pyramid of biomass

In stratosphere, which of the following elements

acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1) Fe (1) Fe
(2) Cl (2) Cl
(8) leA (3) Carbon
(4) AT (4) Oxygen
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117.

118,

119.

120.

121,

122,

TR % T e FEfcrs 9qg FH-A 3 ?
(1) FEIES 3 Fiose

(2) eI R Afde

(3) wEgifFad R gt

(4) FHEHA AR FRSfaas
frfafen § 3 - w Qg 757 2 2
(1) Ai=is

(2) HEFHIEFTE

(3) HIigrsdiT

(4) ez

et aftyy frad wmm o 2
(1) <hamst § vgaq |

(2) @l yfewTed & sH §
(3) TH A & FAuHeT H

(4) UHIA A7 & gigpao §

frmfafigs 4 @ S99 U THEE-GvANT H YHE

sAtirfsran =51 3eme 77 & 7

(1) NADPH

(2) NADH

(3) ATP

(4) Oxygen

Hies & foe faafafias 8 @ e e 2 2

(1) =8 % =+ o 9 T R |

2 mUaftmwEa g

(3) fomfae o SRR § R S aa § )

(4) T8 TEEEEA RNA dveny 1 Brmiea o
e

wyi i Tfasirerar freg ywrfaa 727 2 2

117.

118.

119,

120.

121.

The two functional groups -characteristic of
gugars are

(1
(2)
(3)
(4)
Which among the following is not a prokaryote ?
(1) Nostoc

(2) Mycobacterium

(3)
(4)
The Golgi complex participates in
(1)
(2)
(3)
(4) Activation of amino acid

Which of the following is no# a product of light
reaction of photosynthesis ?

(1) NADPH

(2) NADH

(3) ATP

(4) Oxygen

Which of the following is true for nucleolus ?
(1)
(2)
(3)
(4)

carbonyl and phosphate
carbonyl and methyl
hydroxyl and methyl
carbonyl and hydroxyl

Saccharomyces
Oscillatoria

Respiration in bacteria
Formation of secretory vesicles
Fatty acid breakdown

It takes part in spindle formation.
It is a membrane-bound structure.
Larger nucleoli are present in dividing cells.

It 18 a site for active ribosomal RNA
synthesis.

(1) O, i & 122, Stomatal movement is nof affected by
@) WA (1) O, concentration
(3) AHEE (2) Light
4) CO,dEa & (3) Temperature
123, 3w TR H 9 R — (4) CO, concentration
ST 2 9 123. The stage during which separation of the paired
(1) Wy homologous chromosomes begins is
@) fe (1) Diakinesis
(3) g (2) Diplotene
4) T (3) Pachytene
) (4) Zygotene
124. w8 el T T R N E 2 124. Stomata in grass leaf are
(1) 3TEdAERR (1) Rectangular
(2) TR (2) Kidney shaped
(3) SRR (3) Dumb-bell shaped
(4) SRR (4) Barrel shaped
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125, feefioslt a5 & fediass wgom it woiinm frod 3099 [ 125. Secondary xylem and phloem in dicot stem are
BN E 2 produced by
(1) <A ( 1) Phe I]ogen
(2) HIET Ul (2) Vascular cambium
(3) fidey favwsm (8) Apical meristems
(4) e favsn (4) Axillary meristems
126. vau4-ue fopad gieft € 2 126. Pneumatophores occur in
(1) Wﬁlﬁ gredi | (1) Carnivorous plants
(2) IR AetigfHg H (2) Free-floating hydrophytes
(3) Elﬂilﬂﬁiﬁ S 5 (3) Halophytes
(4) S IEi”’j Iq (4) Submerged hydrophytes
127. PRI afgal el Jeil & ? 127, Casparian strips occur in
{;) TFe (1) Cortex
ES; T O) Pericuels
@ (3) Epidermis
A e - (4) Endodermis
128. - o fefiaen T T
giﬁq?q % ) . 128. Plants having little or no secondary growth are
(1) ' m@mﬂ (1) Conifers
(2)  woturh SIEREIE] (2) Deciduous angiosperms
(3) = (3) Grasses
(4) TIEREE (1) Lyends
129. e FFEH TR 8 ? 129. Sweet potato is a modified
(1) THe g (1) Tap root
(2) IS gd (2) Adventitious root
(3) @ (3) Stem
(4) Wehq (4) Rhizome
130. ﬁmﬁii?a | 9 - EEEF-I gl @ 130, Which of the following statements is correct ?
E; BT 3T 3d fisfl 2 | a3 (1) Horsetails are gymnosperms.
: 2 elaginella 18 heterosporous, while Salvinia
Rreifden b iy I 2) Selaginella is h hile Sal
e I{Eﬁ;ﬂél?ﬂl'}[ e 2 | e is homosporous.
3) :r&"f” “@ﬁafl AfSra 0. AU g iy (3) Ovules are not enclosed by ovary wall in
|
o gYymnosperms.
(4) FEHT AR fgd M H WER T STREd (4) Stems are usually unbranched in both
Fd & | Cyecas and Cedrus.
131, 77T HH Bl 3' i.{ ; 131. Select the wrong statement :
(1) E‘ilfi'iﬁim T I w@ R ST e F ) (1) Pseudopodia are locomotory and feeding
T ¥ | . structures in Sporozoans,
(2) oFH F1 TRy SRR l (2) Mushrooms belon 1d1i
_ ot g to Basidiomycetes.
(3) ehl aﬂ@;ﬁ? W % wew § wivwe fif (3) Cell wall is present in members of Fungi
3qfeda and Plantae,
(4) WO FI ﬁlg Rl Sfeeal i o (4) Mitochondria are the powerhouse of the cell
TR T TIHFE & | in all kingdoms except Monera.
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132. Ffafegn o & frot Sgaaas aon rdgiifaasy | 182, After karyogamy followed by meiosis, spores are
% TTIq Y] Sfgwid 9 8 3¢9 Bd | 2 produced exogenously in
(1) éﬁﬁw (1) Agaricus
@) e (2) Alternaria
(3) Neurospora
ES; z (4) Saccharomyces
4 ﬁ@ﬁ’?gﬁiﬁ
133, Tqey 1§ & 7 wel @ Ty 11 61 wel 9 free fitn 133. Match the items given in Column I with those in
AR 9 e T R § ¥ @@ Reer w1 oW Column II and select the ecorreet option given
below :
= Column I Column II
i [ ey 11 a. Herbarium i. Itis a place having a
. ' collection of preserved
a. UEUE™ i ORafEa aredi ek et %
TR T TF T | plants and animals.
. . , - b. Key il. A list that enumerates
b F i, T & H TR T Wi methodically all the
=l ﬁi L IEi T & 3R species found in an area
sl g =1 g = forn with brief description
Tiared I0H Hd FL T AT | aiding identification.
¢ U i, UET €A S8 9y :"f'ﬁ | c. Museum iii. Is a place where dried and
ETER 3 GEER T W pressed plant specimens
mounted on sheets are
IR o TN 7T 2 | o
; . . =hb
d.  TeHE iv, U gEaeR Fored ?ﬂa‘"ﬁ &t g d. Catalogue iv. A booklet containing a list
(FeTEi) 3 37 Taehed B & of characters and their
fafte sl A vgwm = ° alternates which are
TEEF 34 § | helpful in identification of
" b - d various taxa.
(1 i iv di i " B ¢ g
@ i " . - (1) i iv 1ii 1
: ; B W (2) il i i iv
(3) 1 iv 1 1 . . B
By _ _ - 3) 1 v 1i1 11
Dl W w2 b @ @i v i ii
134, 9ug WY fohAY B E 7
(1) =1m 134. Winged pollen grains are present in
) TEFT (1) Mango
. (2) Cyeas
&) (3) Mustard
W e (4) Pinus
. F=fafe 4 & *9-1 77 €9 ° gufoa & 2
1S Sm i 3 N 8 136. Which one is wrongly matched ?
(1) Rl ~ AT (1) Gemma cups -  Marchantia
(2)  fgeweniires Seriony — 3R e (2) Biflagellate zoospores — Brown algae
(3) UHHIMH RRED —  GHEERT (3) Uniflagellate gametes — Polysiphonia
(4) THHINH g —  FARET (4) Unicellular organism - Chlorella
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186. Ffafgm § o =-m faeg e o o aaedifa
T %wet At = =i 3fea w9 T gl B 2

(1)
(2)

(3)
(4)

137. € I 8 &1 712 Hel w1 w3 11 s 7el ¥ e $if

YaOH] Wag § SAferesal; yad-e 3 Iy
AT

vauieRT | WY vaEH Uag ° HHI
YU TaE § Y, TaEiEe | oy

iR e fou T fepedi 4§ @F fawew =1 =9

Hikm -
T T IT
a. Paodh wuw i, 9 31 @ WY e
* =
b. fmefiwme i i Fom @ weEE
gt % d=
c. ondE wuifewm  iii. @fem sifore wa =ifg=
e % =
a b C
(1) 1 ii 11l
(2) 1 1ii 11
(3) 1ii 1 ii
(4) 1ii 1 1ii

188. ®aFy [ § &1 72 Hel &1 w34 11 i 7el § e $ifs

I e o Repedt 4§ @ feew w1 e

136. Which

of the

following

options  correctly

represents the lung conditions in asthma and

emphysema, respectively ?

(1)

(2)

(3)

(4)

137.

Increased

respiratory

surface;

Inflammation of bronchioles

Increased number of bronchioles; Increased

respiratory surface

Inflammation of bronchioles;

respiratory surface
Decreased

respiratory

Decreased

surface;

Inflammation of bronchioles

Match the items given in Column I with those in

Column II and select the ecorreet option given
below :

(1)
(2)
(3)
(4)

Column I

Tricuspid valve 1.

Bicuspid valve 1.

Semilunar valve 11

a b c
i il iii
i iii il
111 1 11
il i iii

Column IT

Between left atrium
and left ventricle

Between right
ventricle and
pulmonary artery
Between right
atrium and right
ventricle

Hfe - 138. Match the items given in Column I with those in
Column II and select the eorrect option given
&g T Gy I .
below :
a. A R i 2500 — 3000 .. Column I Column IT
b. 379795 g{-ﬁa—d ii. 1100 — 1200 T, a. Tidal volume 1. 2500 — 3000 mL
G b. Inspiratory Reserve 1. 1100 - 1200 mlL
ol
c. Dvemgfm i 500 - 550 e TOTHme
AT c. Expiratory Reserve 11, 500 — 550 mL
volume
d. RIS T iv. 1000 - 1100 fr. . d. Residual volume iv, 1000 — 1100 mL
@€ b e d a b ¢ d
(1) 1 v il 11l (1 i i i3 i
(2) @i i iv ii (2 i i iv ii
(3) 1 ii 1 v (3) iii 2 3 8
(4) iv 111 11 1 (4) iv s = 3
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139. OW9 =3 ° ureEi o9 Fraes gRT o199 TIW W §a1|189. The transparent lens in the human eye is held in
e its place by

(1) amehE A & fardt TRT Zm (1) smooth muscles attached to the iris
N o (2) ligaments attached to the iris
@ W AL g (3) ligaments attached to the ciliary body
(8) wAHTH T W I3 T G (4) smooth muscles attached to the ciliary body

(4) vty % © S ol uisE g
140. Which of the following is an amino acid derived

140. Frafafiaa § ¥ w-w s W owa ¥ sgeE B hormone:?

29 (1) Estradiol
(1) weIiestie (2) Ecdysone
(2) UHSEEH (3) Epinephrine
(3) uiwhE (4) Bstriol

4) Rt

141. Which of the following hormones can play a
significant role in osteoporosis ?

141, F=fafga o @ Frg gie 1 fgra © g= (1) Estrogen and Parathyroid hormone
‘qﬁlﬂ 29 (2) Progesterone and Aldosterone
: .. (8) Aldosterone and Prolactin
(1) TEISH Td $uEiiss giuH
‘ (4) Parathyroid hormone and Prolactin
(2) WSEAN Td TeeeiH

(3) oSl Td Welfded 142. Which of the following structures or regions is
S ; incorrectly paired with its function ?
(4) AR B U@ Wi
(1) Hypothalamus :  production of
.. releasing hormones
142. ﬁmﬁ‘fﬁﬂ'ﬁ ﬁ ﬁ %‘317-[-@ w HYT a.ﬂ G'H% %Tflt @ and I'Egl]lﬂ_t-i{]ﬂ .[:,f
7erw ®9 § Ifha § ? temperature,
_ ) hunger and thirst.
(1) BRUIAHY : forerm g1 1 3eared U
(2) Limbic system :  consists of fibre
. kel tracts that
A T interconnect
@) faf d : ﬁﬁfsﬁ ¥ &9 5 ofersE & dlfﬁfarient regions of
; . brain; controls
?ﬁ% &l 1 AT T Fgd movement.
: 1 o & |
(3) Medulla oblongata : controls respiration
(3) ﬁ?ﬂ AN : Y999 UF 7ed THNEART TRadi and cardiovascular
=t Ffya = | reflexes.
o B . 5713w e ynie (4) Corpus callosum : band of fibers
“) N ) e connecting left and
<l SfeA AT agaﬁ 17 | right cerebral
hemispheres.
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143, TEIRET o1 i yuraTe g Io9 RRow e g 2

(1)
(2)
(3)
(4)

HeTaeal Td TR

Hqca U HegsEa]

STl Uel TSR,

dercd T U STateadn

144, AT I ¥90 W@ & U 90 w98 gWE aifaq
=l & ?

(1)
(2)
(3)
(4)

hCG, hPL, TSfeeH, T

hCG, hPL, W, feifigm, arifeadifm
hCG, hPL, TN sH, Tetfde

hCG, TeERH, TEISH, hHIehEs

145. YR Td IEVE (TIHOEE) o 491 3 3 2

(1)

(2)

(3)

(4)

YIS B YGRS S Werelt iRmmen A
YFFATS At i e o OeE g E,
SR YEAIVEA H IER] 94 8 |

WHUSF H LRI S F, SElh PEEE o
RIS T4 & |
A § I 4, SEih e |
YERIY] 594 & |

LA B LN T [, e YR |
S W well BN ¥ IFEIS
AfereRtert =i TfEet | HieH g 8 |

146. TS ‘Tl

(1)
(2)

(3)

(4)

wF IUD 2 |
g W URSH il Wigal $1 §gKil 3 wd
SiEreEnt & Ul 2 |

YT ¥ TN AR B ITaEg el & U ISl
% YT i Tshdl 2 |

Uk qeEl-Hed M 2 |

143. The amnion of mammalian embryo is derived
from
(1) mesoderm and trophoblast
(2) endoderm and mesoderm
(3) ectoderm and mesoderm

(4) ectoderm and endoderm

144. Hormones secreted by the placenta to maintain
pregnancy are
(1) hCG, hPL, progestogens, estrogens
(2) hCGQG, hPL, estrogens, relaxin, oxytocin
(3) hCG, hPL, progestogens, prolactin

(4) hCG, progestogens, estrogens,
glucocorticoids

145. The difference between spermiogenesis and
spermiation is

(1) In spermiogenesis spermatozoa from sertoli

cells are released into the cavity of

seminiferous tubules, while in spermiation

spermatozoa are formed.

(2) In spermiogenesis spermatozoa are formed,
while in spermiation spermatids are
formed.

(3) In spermiogenesis spermatids are formed,
while in spermiation spermatozoa are
formed.

(4) In spermiogenesis spermatozoa are formed,
while in spermiation spermatozoa are
released from sertoli cells into the cavity of
seminiferous tubules.

146. The contraceptive ‘SAHELI’
(1) 18 an IUD.

(2) increases the concentration of estrogen and
prevents ovulation in females.

(3) blocks estrogen receptors in the uterus,
preventing eggs from getting implanted.

(4) 1is a post-coital contraceptive.

ACHLA/AA/Page 34

TF & & T T9= / SPACE FOR ROUGH WORK Hindi/English

collegedunia:s

India’s largest Student Review Platform

-

—



147. fafeoeg s ol weseH 3 fFg wr i § 2 147. Ciliates differ from all other protozoans in

(1) ¥ =R % s & U 9eY =1 Y30 = & (1) using pseudopodia for capturing prey

(2) T afafEa o = feen % foe dgemeia (2) having a contractile vacuole for removing
1 B 2 excess water

(3) ¥ THT % TAT BT 1 TN HE 8 (3) using flagella for locomotion

(4) 398 2 YR % g Bid & (4) having two types of nuclei

148. FIEH] L % 37 W@;ﬁ &I vga T S s 148. Identify ‘the vertebrate _group ?f a'nim'als
oS g oon characterized by crop and gizzard in its digestive
ur=F o3 H i wd fierd gra st 2 )

system.
(1) i (1) Aves
(2) e (2) Reptilia
(3) ufewfera (3) Amphibia
(4) orifeeadi= (4) Osteichthyes

149, F=fafign § ¥ F9-3 F20 | FiU= F7 9gae O1eT [ 149. Which of the following features is used to identify
FTHIT ¥ FE § 9 a male cockroach from a female cockroach ?

(1) &t YaR T=a¢ afed o ue

(1) Forewings with darker tegmina

(2) Presence of caudal styles

(2) T Y% I 3ufedia (3) Presence of a boat shaped sternum on the
(3) A 3@ @z W NHr % AFER H I B 9" abdominal segment
Iufesta (4) Presence of anal cerci

(4) U 1 Fafedt 150. Which one of these animals 18 nef a

: h th ?
150, Frefafes § & w9 g g 777 2 2 DIEOERETE

1) 9 (1) Camelus

@) e (2) Chelone

(3) FBrm (3) Macropus

(4) FRlgor (4) Psittacula

151. Fefafga st § 8 Si9-8 o SEime 727 w5 2 | 151, Which of the following animals does nof undergo

metamorphosis 7

i = (1) Moth
0
2 &]ﬁé’:ﬁ
- é@ (2) Tunicate
& S (3) Earthworm
“) ' (4) Starfish
152. ﬁ'ﬂ-’-}ﬁ[ﬁgﬁ HH HHE-Y Sl wemd H e I 5 152. Which of the following organisms are known as
w09 I g ? chief producers in the oceans ?
(1) e (1) Cyanobacteria
(2) S (2) Diatoms
(3) SEFIRINIEE (3) Dinoflagellates
(4) IeiFEed (4) Euglenoids
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153, F=fafas o o fafeem fagm o gfesifos & Scues & (163, Which  one of the following population
T e T ey interactions is widely used in medical science for
$ % H PR g b the production of antibiotics ?
. : (1) Parasitism
@) (2) Mutualism
(2) TR (3) Commensalism
(3)  wENifE (4) Amensalism
(4) URHfAISA 154. All of the following are included in ‘Ex-situ
conservation’ excepi
154. F=fafas o @ =F-a1 SEram e @ 757 3 2 (1) Botanical gardens
(1) IE=ITIE 3T (2) Sacred groves
@) fE I7E (3) Wildlife safari parks
(3) TESTE TEr T (4) Seed banks
(4) 9= 155. Match the items given in Column I with those in
. + . Column II and select the correef option given
155. Tar9 [ § & 75 Wei 1 TR 11 1 7§ e s below :
A A= feu U Repewi § B #@E v w1 == Column I Column IT
Hifsm . a.  Eutrophication i. UV-B radiation
b.  Sanitary landfill 1. Deforestation
e [ e IT
a gq‘TElUT ;. UV.B &R c.  Snow blindness iii, Nutrient
b: S Saf 11 > o ‘ em*ichmfant
i d. Jhum cultivation iv. Waste disposal
c. TEwFdal (W sEEAE) il U wgig a b c d
d. gH Tl iv. 3mafre faem (1) iii s 3 4
a b c d @ i iii iv ii
(1) it iv i ii (3) i i iii iv
(2) 1 111 iv ii 4) 1 il iv 111
(3) 1 i iii iv ) )
4 i " N - 156. In a growing population of a country,
_ _ (1) reproductive and pre-reproductive
156, T o9 I dedl 'g'% e # individuals are equal in number.
(1) 90 T§ S9qd AR T&1 § TR gk (2) reproductive individuals are less than the
8 post-reproductive individuals.
(2) AW =5 TR A ¥ A § (3) pre-reproductive individuals are more than
. the reproductive individuals.
e e Sem et ¥ srfe
() o 3 @% gl (4) pre-reproductive individuals are less than
(4) SAYd =i JTeH wgfeedl U %0 B 7 | the reproductive individuals.
157, “Ti= AW g7 9iear WY % R v § 9rd gl 8 ? [157. Which part of poppy plant is used to obtain the
1) A drug “Smack”™ ?
?é 1) Root
2) 3 (1) oots
Ly (2) Latex
(3) W _ (3) Flowers
(4) iR ® (4) Leaves
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158,

159.

160.

161.

162,

TIH U -9 IUGT 1 W F7T 8 2
(1) e

(2) HEATHS TH

(3) TET®

(4) IAHE

T &l % T X TR H X-Her G ] | 98 T
sl swmTa B 2

(1) Faa drar-vif /At 5

(2) FaA [ H

(8) aw g #

(4) I @ gt S |

o & i % ogEn Rem 6 Grfaty Fe R
B R ?

(1) <ifes gv9 w&T TREdd (Seoredt faftman)
(2) HleeyH

(3) wE=W IcaiEad

(4) o1 Iegiad

U SF % HIET 9 1 FH AGGTATCGCAT # |

T g1 STIeiRed mRNA 1 e 558 91 2 2
(1) ACCUAUGCGAU
(2) UGGTUTCGCAT
(3) AGGUAUCGCAU
(4) UCCAUAGCGUA

ey T H @1 773 HEl w1 & 1T 1 "el 9 e s
IR = fu T et § A @Et feew w1 ==
Fifse

138,

159.

160.

161.

162,

All of the following are part of an operon except
(1)
(2)
(3)
(4)

an enhancer
structural genes
an operator

a promoter

A woman has an X-linked condition on one of her

X chromosomes. This chromosome c¢an be

inherited by
(1)
(2)
(3)
(4)

Only grandchildren
Only sons

Only daughters

Both sons and daughters

According to Hugo de Vries, the mechanism of
evolution is

(1)
(2)
(3)
(4)

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding

sequence of the transcribed mRNA ?

(1) ACCUAUGCGAU

(2) UGGTUTCGCAT

(3) AGGUAUCGCAU

(4) UCCAUAGCGUA

Match the items given in Column I with those in

Column IT and select the correef option given
below :

Phenotypic variations
Saltation
Multiple step mutations

Minor mutations

Column I Column IT
TTrg I &TFg 1T a. Proliferative Phase 1. Breakdown of
a.  TEUGHIT TEEA i TV 0T F e Eﬁ?ﬁ:emm
b. BT greRe i, e e b.  Secretory Phase  ii. Follicular Phase
c. THgEE iif, Hafoog e ¢.  Menstruation iii. Luteal Phase
a b ¢ a b ¢
(1 i iii i (1 i iii i
2 i iii ii 2 i iii ii
(3) il ii i (3) iii i :
(4) 11 ] 11 (4) iii 1 1i
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163, T@F I # i T Hel 1 &9 11 1 7l & 0T HISTE | 163, Match the items given in Column I with those in

AR A= Y o fshew € ® @t fawen w1 e Column II and select the correct option given
Hifm below ;
r sl T I Column [ Column IT
4 ‘aﬁﬁﬁﬁm i, e "‘{ﬁ_* ST FA a. Glycosuria 1.  Accumulation of uric
A acid in joints
TUE BH1
. + b. Gout ii. Mass of crystallised
b. TR i, g% 4 fortefora ofemn = salts within the kidney
g c. Renalcalculi iii. Inflammation in
i lomeruli
c. FFEEEUAR i TE! § YewEHAl &
Fet W@ d. Glomerular iv. Presence of glucose in
( ) nephritis urine
d. TS gFEIY v, A H SHM B a b . d
a b c d (1) 1 111 1 v
(1) 1 111 1 v (2) 1 11 111 1v
2) i ii iii iv (3) i ii iv i
(3) 1 1i v 1 (4) iv 1 il 111
4) iv 1 ii 1ii 164. Match the items given in Column I with those in
. " . Column II and select the correef option given
164, TP [ ° § g 52l 1 T 11 $1 w61 3 e il bilow
M A ey fawedt § @ @Rt Fewer B Column I Column I
HIfST {(Function) (Part of Excretory
e Il Syseens)
() (FEHT 77 FT 9FT) a. Ultrafiltration 1. Henle’s loop
i . b. Concentration ii. Ureter
a. offgen fEes i 9 Im of wrine
b. T 1 WIgW i,  TEETR c. Transport of iii. Urinary bladder
urine

c. TAHAMIEE il TEH
d. Storage of urine iv. Malpighian

d. TI H GIEW iv. Tedwt o corpuscle
v. THIEY Haferd At v. Proximal
convoluted tubule
a b c d “ b 5 d
1 v iv i ii D v 2 i i
@ o v @ iv i TR
S owe v B oW @ v v i i
4) v iv i iii _— . : .
ACHLA/AA/Page 38 TF & & T T9= / SPACE FOR ROUGH WORK Hindi/English

collegedunia:s

India’s largest Student Review Platform

-

T



165. Ffaflgs @ o F- S FIREN Iy =9 @

THATY]-Ieafe § g HL § ?
(1) T (M) HIRTHL
(2) v SHifdreRnd
(3) & HIfE
(4) Tl ifareerd

166, T [ © 3 7% "<l 1 Ty 11 i o1 O fuee s

AR 4= fow U fwmedt B B #ET fawew o=
FHif

ey [ &Fy [T

c. UERH iti, wfewan foranfarfdy
a b c

1) i iii ii

2) i ii iii

(3) i i i

(4) i 111 1

167. F=fafiga § o sl a9 =R =1 e ==

®?

(1) digfersy

(2) Frfma
(3) Uit

(4) araehifa

168. el Ul Hp=H § Hicsem Agaqul 2 wifh a8

(1) U dg ¥ TEife il =i sem e T & |

(2) HERE S ¥ Sye 38 frarsiid e 2 |

(3) ifE & dyem R % afe e ¥ smEm
1 82T 241 & HENRE & o |

(4) TERE ®E Ig ok UFm 99 F uew sy
fmtor =6 Japar 2

165.

166.

Which of the following gastric cells indirectly
help in erythropoiesis ?

(1) Goblet cells
(2)  Mucous cells
(3) Chief cells
(4) Parietal cells

Match the items given in Column I with those in

Column II and select the correef option given

below ;
Column I Column II
Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

¢c. Albumin iii. Defence mechanism
a b c

(1) 1 111 11

(23 i 11 111

(3) 1ii ii i

(4) il 111 1

167. Which of the following is an occupational

168,

respiratory disorder ?
(1) Botulism

(2) Silicosis

(3) Anthracis

(4) Emphysema

Calcium 1is important in skeletal muscle
contraction bhecause it

(1) detaches the myosin head from the actin
filament.

(2) activates the myosin ATPase by binding to
it.

(3) binds to troponin to remove the masking of
active sites on actin for myosin.

(4) prevents the formation of bonds between
the myosin cross bridges and the actin
filament,
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169.

170.

171.

172,

173.

174.

e % fuvg g fFes T g & 2
(1) —gfRT* o7 @ SER

(2) DNATH RNA

(3) WiEA we fafte

(4) ¥ TEEW T RER

Y T FH-AT FUH 7T B ?

(1) TEHIAYE a9 9F Bl & 9 a% 39 qEgeH
THIIRT %1 33H % fIE NAD firerar &ar 2 |
RS fAE SifdEie™ § wug gl 2 |
TCA =5 % UFTEH w0 % Mael § feoa
3 A |

sfierft BReiefien T f T/
g ® wfea g 2 |

(2)
(3)

(4)

reA fuam 1 =39 hifs

(1) Iwmerdgl T — L-STRRY TR

(2) UelEm — o ong

(3) oiugw ToRE - Tgug % e

(4) wEIEE A - UFERRET % Hew
f=fafigs § @ SR8 Tty s=¢ a9 <afa—=ma

I afvlg = 8 ?

(1) e, Thargdl, Tagdl
(2) Tagdl, feamedt, fawmedt
(3) Tagdl, fgamedt, wmedt
(4) ureagd, fgawed, e
% UEraeshs egem (RER) © ffafea 4 @
- e 7g7 Bl ?

(1) Hha IEe =1 fogem
(2) WEH F TATTRIUATA
(3) WIEH 1 Ie

(4) wiepfafis dyawn

9 ¥ UMW T mRNA ¥ TEg e THE
ifaiese $ w5 gkl =R 8 | wEEm H U

169.

170.

171.

172.

173.

174.

Nissl bodies are mainly composed of
(1) Nucleic acids and SER

(2) DNA and RNA

(3) Proteins and lipids

(4) Free ribosomes and RER

Which of these statements 18 incorrect ?

(1)

Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

(2)
(3)

Glycolysis occurs in cytosol.

Enzymes of TCA cycle are present in
mitochondrial matrix.

(4) Oxidative phosphorylation takes place in

outer mitochondrial membrane.

Seleet the incorreet match :

(1)

Submetacentric — L-shaped chromososmes

chromosomes

(2) Allosomes — Sex chromosomes

(3) Lampbrush — Diplotene bivalents
chromosomes

(4) Polytene — Qocytes of amphibians
chromosomes

Which of the following terms describe human
dentition ?

(1)
(2)
(3)
(4)

Pleurodont, Monophyodont, Homodont
Thecodont, Diphyodont, Heterodont
Thecodont, Diphyodont, Homodont
Pleurodont, Diphyodont, Heterodont

Which of the following events does not occur in
rough endoplasmic reticulum ?

(1)
(2)
(3)
(4)

Cleavage of signal peptide

Protein glycosylation

Protein folding

Phospholipid synthesis

Many ribosomes may associate with a single

mBNA to form multiple copies of a polypeptide
simultaneously. Such strings of ribosomes are

"j@ﬂaﬁ %l FAT FEd 8 ? termed as
(1) wfeesEH (1) Plastidome
(2) wgael fve (2) Polyhedral bodies
(3) wgyd (3) Polysome
(4) g™ (4) Nucleosome
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175. fpa UM o m=st g W@ WM % SR @R | 175. In which disease does mosquito transmitted

FfefEt & Rt vy 39w S| 2 2 pathogen cause chronic inflammation of
(1) s lymphsf,tm Vessels‘?
@) teHieRm (1) ngv..fﬂr]‘:n disease
) e ] ghoies
ephantiasis
& (4) Amf:ebiasis
176. Fr=fafign o 3 - wfeen i 727 8 2 , o _
176. Which of the following is ne# an autoimmune
(1) {EI*HE, Sul disease ?
(2) wHA (1) Alzheimer’s disease
(8) HrRfeA (2) Rheumatoid arthritis
(@) fafefern (3) Psoriasis
177. Trefafga sroad) fohme & Seewl § ¥ 7era farsew (4) Vitiligo
w1 =5 Hifr 177. Among the following sets of examples for
(1) <eE, 7 T4 Hiar I Afeash divergent evolution, select the incorrect option :
(2) TMICE, UMY Td =1 1 g3 (1) Brain of bat, man and cheetah
(3) TNE, ITETEE TH =1 % UG (2) Heart of bat, man and cheetah
(4) HfFRTE, IHEE UE HHG 6l ATE (3) Forelimbs of man, bat and cheetah
178. 24 ¥ od § wUww ¥ wmd sl UNE e (4) Eye of octopus, bat and man
raeht 'q“@ % HRY] Biedl 8 7 178. Conversion of milk to curd improves its
(1) faerfim By, nutritional value by increasing the amount of
©) fefE A (1) Vitamin By,
3) frftm D (2) Vitamin A
4) FrefmE (3) Vitamin D

(4) Vitamin E

179.m3mmﬁqﬁ%mﬁﬁﬁaﬁxéﬁmﬁmﬂgm__I o bl 5t il
mm%? . £ S1Imilarity o one structure 1n e 10rellmps

of many vertebrates is an example of

(1) T form (1) Convergent evolution
(2) geaEqdl (2) Analogy

(3) RS (3) Homology

(4)  srggel fafemeor

(4) Adaptive radiation
180. frfafaa rfywrael § o $H-8 gsw | i ami i1 180. Which of the following characteristics represent

. ¢ . Fit 2
STy B Tty ¥ o Inhexl';tan:ce of blood groups’ in humans
a. gIEEn : Cﬂr;ma‘nce
b. HeEuwIEEr i 0- i:3’«11:111:13.11&:3
A c.  Multiple allele
1 d. 1 lete domin
d. 3“&'? EEIEGI . Pﬂ‘iﬂmple je hﬂ lt ance
e. E@Gﬁa"r ERIUIG e. olygenic inheritance
] (1) b,dande
(1) b,dWd e
' (2) a,bandec
(2) a,bWc ot ‘
(3) b,cTe (4) , € and e
4) a,cTde (4) a,cande
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; ead care vy the foltowing insiruchions :

Aot Ao s @ 9% Read carefully the following i '

. a N 1. EKach candidate must show on demand his/her

1. 99 SH W g qlienell, T ® SO | Admit Card to the Invigilator.

Yomraa feamd
| . No candidate, without special permission of
o ardters a1 Tfas & ey \?Fla'ﬁlﬁl ¥ far the BSuperintendent or Inwvigilator, would
| . leave his/her seat.
I3 qhETe T TWE T BIS |
3 The candidates should not leave the

3. g et B 319 sRow fow fomn ww Examination Hall without handing over their

m@r%_‘qw T gq LN 5{.(”&1'{ ﬁ;q ﬁ:ﬂ‘ qﬁg Answer Sheet to the hlVigﬂEltUI‘ on dlltji' and
- ; sign the endance eet ice. Lases

wiendl wen gfw TE Sen | afy feeefy | sisn the Attendance Bheet twice. ©
o ﬁ‘3 £ where a candidate has not signed the
& N L A W Attendance Sheet second time will be
FEATeR @ TR a1 =g W s R s deemed not to have handed over the
ST A TE AleTan § 3R ag oo Wieq | Answer Sheet and dealt with as an

T {THHAT QT 10T | unfair means case.

o - o . Use of Electronic/Manual Calculator 1is

4. ;mer;nﬂwawﬂnm TieheTeh R 39 dfoid srohibited.

|
. The candidates are governed by all Rules and

5. THemgia H IR & foru ghereff wdam = Regulations of the examination with regard to

et Q‘q’ farfremt ey Frafie % | 313%1‘([ their conduct in the Examination Hall, All

Sty ; i g v cases of unfair means will be dealt with as
AT o T A w S g i per Rules and Regulations of this
ot w oot <6 SrgER E | examination.

6. Tordl o KK O ogdie Q@W 3R 3T yg |6. No part of the Test Booklet and Answer Sheet
F ﬁ AT 376 T Y | shall be detached under any circumstances.

. The candidates will write the Correct Test
— .

7. qﬁ&“ JIEARIEHW 94 4 F‘:Q ¢ ot EIEEM;[ Booklet Code as given in the Test
Hehd o1 gLieqref HECT e | IuTefa.u=eh o Booklet/Answer Sheet in the Attendance
g | Sheet.
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